Kimberly-Clark Corporation (KMB)

Solution to Continuing Case, Chapter 9
REFORMULATION OF THE EQUITY STATEMENT

Review the Continuing Case for Chapter 2 before beginning here, noting particularly the treatment of the equity statement.
The reformulated equity statement is as follows: 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	KIMBERLY-CLARK CORPORATION 

	Reformulated Statement of Stockholders Equity, 2010

	(in millions)

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	Balance December 31, 2009
	 
	 
	 
	 $5,656 

	 
	 
	 
	 
	 
	 

	Translation with shareholders
	 
	 
	 
	 

	 
	Stock issues (141 + 5.4)
	 
	   146 
	 
	 

	 
	Stock repurchase 
	 
	   (809)
	 
	 

	 
	Cash Dividends (1,085 – 269 + 250)
	 
	   (1,066)
	 
	 (1,729)

	 
	 
	 
	 
	 
	 

	Comprehensive Income
	 
	 
	 
	 

	 
	Net income
	 
	  1,843 
	 
	 

	 
	Currency translation gain
	 
	     326 
	 
	 

	 
	Pension adjustment
	 
	       57
	 
	 

	 
	Other
	 
	     (16)
	 
	 

	 
	Stock option compensation expense (-3.4 + 52)
	 
	      49
	 
	  2,259

	 
	 
	 
	 
	 
	 

	Balance December 31, 2010
	 
	 
	 
	 $6,186 

	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 

	The beginning  balance in the reformulated statements is calculated as follows:

	 
	Reported beginning balance
	 
	 5,690 
	 
	 

	 
	Dividend Payable
	 
	    250 
	 
	 

	 
	Noncontrolling interest
	 
	   (284) 
	 
	 

	 
	Adjusted Beginning balance
	 
	 5,656 
	 
	 

	 
	 
	 
	 
	 
	 

	The ending balance in the reformulated statements is calculated as follows:

	 
	Reported ending balance
	 
	 6,202 
	 
	 

	 
	Dividend Payable
	 
	    269 
	 
	 

	 
	Noncontrolling interest
	 
	  (285) 
	 
	 

	 
	Adjusted Ending balance
	 
	 6,186 
	 
	 

	
	 
	 
	 
	 
	 



	Loss from exercise of stock options
	 
	 
	 
	 

	 
	Stock compensation expense
	 
	5.4
	 
	 

	 
	Tax benefit (36.8%)
	 
	2.0
	 
	 

	 
	Expense (after tax)
	 
	3.4
	 
	 

	 
	 
	 
	 
	 
	 


Note the following:
1. The beginning and ending balances have been adjusted for dividends payable (these are equity, not a liability). Dividends payable is given in the balance sheet as a liability. 

2. Accordingly, the cash dividend in the reformulated equity statement is not the dividends declared in the published equity statement (1,085 million), but rather dividends paid, that is, dividends declared adjusted for beginning and ending dividends payable = 1,085 -269 + 250 = 1,066. Notice that this dividends paid number equals dividends paid in the cash flow statement. 
3. Stock issues are the amount received for the shares plus any difference between market value and issue price. That is, share issues are entered at their market value, with any difference between market value and issue amount being a loss on the issue. The latter applies to stock options exercised.

4. The loss from exercise of stock options is given below the reformulated statement. It follows Method 1 in Chapter 9 that gets the stock option expense by inverting the tax benefit from exercise:



Stock option expense, before tax = $2/0.368 = $5.4 million



Tax benefit




     2.0


Stock option expense, after tax                            3.4

The $2 million is the tax benefit that is reported in the equity statement. The 
            after-tax loss from exercise of options is reduced by the “Recognition of 

            stock-based compensation,” the addition to Additional Paid-in Capital in the 

            equity statement. This is not satisfactory, but is necessary to handle the error in

            GAAP for the treatment of stock option compensation. See discussion in the text.
The Story

KMB earned $2,259 million in comprehensive income, including the recognition of hidden expenses from the exercise of stock options. Of this, $1,843 million was reported as net income in the income statement. The firm paid out a net $1,729 million to shareholders, resulting in a net increase of shareholders’ equity of $530 million. 
You can go ahead and calculate the ratios in Chapter 9 to measure payout and retention, shareholder profitability, and growth. The important profitability ratio is Return on Common Shareholder’s Equity (ROCE):



ROCE = 
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BYOAP

Go to the BYOAP feature on the web page and use the template there to get this reformulated equity statement into a spreadsheet. Then build up this spreadsheet as you progress through subsequent chapters. 
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